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Answer “E” will be “NOTA” meaning none of the above answers is correct.

1. Simplify: 
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e. NOTA
2. From what polynomial must
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e. NOTA

3. Simplify:
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e. NOTA

4. In triangle ZLU points S and T are placed on sides ZL and LU respectively such that segment ST is parallel to side ZU. Point K lies on segment ST such that UK bisects angle ZUT and Segment ZK bisects angle SZU. ZU = 30, ZL = 27 and LU = 24. Find the perimeter of triangle LST.

a. 36


b. 40.5


c. 45


d. 51

e. NOTA

5. If one root of the equation 
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 is 5 + 3i; Find the sum of the remaining roots.

a. -10-3i

b. -3i


c.-8-3i


d.3i

e. NOTA

6. What is the coefficient of 
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in the expansion of
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a.720


b.2016


c.4032


d.4752

e. NOTA

7. Find the equation of the tangent line that intersects the circle 
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at the point (3,2).  Answer must be in 
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form, with A>0 and A, B, and C are relatively prime.

a. 
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b. 
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c. 
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d. 
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e.  NOTA

8. Given that 
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, where both x and y are positive integers, find the smallest possible value for x + y.

a. 34


b. 351


c. 407


d. 900

e. NOTA

9.  Find the sum of all the values for “a” for which 6, a, b, 16 is a sequence whose first three terms are arithmetic and whose last three terms are geometric.

a.8


b.9


c.
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d.10

e. NOTA

10. The math team rented a charter bus to go to a math competition and all students shares the cost equally. If the number of students had been 5 less, they could have rented a smaller bus costing only half as much and the expense to each student would have been 50 cents less. If there had been 10 more students traveling, they would have needed a larger bus costing 20% more than the original cost but the expense to each student would have been 30 cents less. how many students were going to the competition?

a. 10


b. 15


c. 20


d. 25

e. NOTA

11. In order to rationalize
[image: image28.wmf]3

3

xy

xy

+

+

 you should multiply both the numerator and denominator by?

a.
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d.
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e. NOTA

12. Using Cramer’s rule: If X=
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: What is the value of Z = ?

a.
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b.
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c.5


d.
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e. NOTA

13. Find the equation  of the line that is perpendicular to 3x – y = 6 and has y-intercept of 4.

a. x + 3y = 4

b. x + 3y = 12

c. 3x – y = 4

d. x – 3y = -1
 e. NOTA
14.  Points A and B are located on square WXYZ so that XAB is an equilateral triangle, with A lying on side WZ and B lying on side ZY. What is the ratio of the area of triangle ZAB to that of triangle WXA?

a. 
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e. NOTA 

15. The graphs of 2y = x + 3 and xy = 5 intersect in two points. The sum of the y- coordinates of these intersection points is?

a. 1.5


b. 1.75


c. 2.25


d. 2.5              e. NOTA

16. Given the following system: 
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Which of the following describes the system above?

I. Dependent

II. Independent

III. Consistent

IV. Inconsistent

a.I and II only

b.I and III only
c. II only

d. IV only
e. NOTA

17.  Find the minimum value of the function: 
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a. -7


b. -3


c. 3


d. 7

e. NOTA

18.  Solve: 
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a. 
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b. 
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c. 
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d. 
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e. NOTA

19. In the sequence 2011, 2012, 2013, ... each term after the third is found by subtracting the previous term from the sum of the two terms that precede that term. For example, the fourth term is 2011 + 2012 - 2013 = 2010. What is the 2014th term in this sequence?

a. -2014

b. -2


c. 0


d. 2014
e. NOTA

20. A circle is inscribed in a square, then the square is inscribed in this circle, and finally, a circle is inscribed in this square. What is the ratio of the area of the larger square to the area of the smaller circle?

a. 
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e. NOTA

21.The Doker and Mu Lu live 13 miles apart. The Doker started riding his scooter toward Mu Lu's mansion, a little later Mu Lu started riding his scooter toward The Doker's apartment. When they met, The Doker had ridden for twice the length of time as Mu Lu and at four-fifths of Mu Lu's rate. How many miles had Mu Lu ridden when they met?

a. 4


b. 5


c. 6


d. 8

e. NOTA

22. There are two values of k for which the equation 
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has only one solution. What is the sum of the values of k?

a. -16


b. -8


c. 0


d. 8

e. NOTA

23. Write the equation of the parabola with directrix y = 
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 and vertex at ( 0,0 ).

a. 
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d. 
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e. NOTA

24. A circle with center O has a radius of 10. Chord
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 with a length of 16 intersects and is perpendicular to diameter 
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 at point Z. Find the length of
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if MZ<RZ

a. 4


b. 6


c. 10


d. 16

e. NOTA

25. In how many ways can 7 students be seated in a row if 2 particular students must be seated next to each other?

a. 120


b. 240


c. 720


d. 1440
e.  NOTA

26. A sphere is inscribed in a right circular cylinder. Find the ratio of the volume of the cylinder to the volume of the sphere.

a. 4:3


b. 3:2


c. 8:5


d. 2:1

e. NOTA

27. What is the product of the solutions:
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a. 
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b. 3


c. 27


d. 729

e.  NOTA

28. A sequence, where 
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 is a quadratic sequence where any nth term can be represented by 
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. What is the 6th term?
a. 
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b.36


c. 
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d. 
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e. NOTA

29. How many numbers between 1 and 2005 are integers multiples of 3 or 4 but not 12?

a. 501


b. 668


c. 835


d. 1002
e. NOTA

30. A square of area 40 is inscribed in a semicircle. What is the area of the semicircle?

a. 
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b. 
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c. 
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d. 
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e. NOTA
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